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Passage:

Thel:- SHENfeRA TRIRT Ul we Reareeaeg: Siuqary Sw R foraal

Sifafage: fowga: Sepaarga: 9gh: uflsdaiy: uRuiitd: | Wpaued dfed dfbeifa fger f[avemik) @ i B sfdery ddd| T IHEUERA
AfrargRgd uadd | difed fafad: wiaacs: YRR Twad| aN-areis-siagrfesiigaamT qasmgaiy: aRald Reaaisaross RAr: aftsa: I
IRBITAH| o Fag: HIE ATUREAT WD AQbIa-a: Aieamvse URUSAHR: | Ha- GBI, Ho TGS, Fa- el  Iaard: |

TP Ao TRTNO! STHRT 9T: BTN | PIERTAN SRS Fal: P AU SETq| PRSI AT AeaHISs Tad WU SRR
T U SFEH Ui | MgREr:, &, 0. U, HedR ARKYETE:, Jdaus:, Wifdfaedre Tydd: HiaHTard: SRaiauRgauosdr: S| HewR
ARFUYEITE SRposd I P T A faiie add | T ARG & aTayIUTEAURT ARa1- SRpaHTSTat sifaufRisi faemi | ¥ ARmofafifa
TR YOIT 3i T G I | JogH uRiid a1 SggaIReRaR a% gg: 7 $Had WHAGIY Savy QR A 3 swen: |

Q.No: 1 TFARA ..vevveenene e fu RvemR)
A el

B RS

C e

D R

Correct Ans : D
Subject : Sanskrit Bhasha 02

Passage:

Ghck:— SHETIRI TR Ui U fAwearaema: Sfuaany Sw o foraal

sifafage: fowga: padga: agi: Uftsdaitd: uRdift: | Wepauied dfed difbeifa fger [vemik) o 3R Braan srdery add | T IHEuER™
AfHIIgd Yadd| didd fafad: Sfadeas: G Txad | SN-araEis-siigrieahagaaRin e oRald Redaisaqussd RAr: aftsd: I
IR T Fag: ST TAAURRAT 6P ATBIA-AN: AgaHIST IRUIYIHR;: | H GEPblaAl, Ha Tel®Ten-, FHa AeHi 9 TTamg: |

TP TRUINUT SR 3H: SPIR| PICRISTHN SRIS: Hait: WP SR | FRAFPHAA! AT AfeaHuse Tad JH | PRAaIRERT
T QI S Yebfear| gRmEr:, &.T.UYder, AedR ARAYEUNR:, QfRivs:, W Tyad: UfdHed: SRAgupauiusdr: S| AR

ARTAVIHE UTeA RGaoRTIT I Pl oI Hew@H SHaule ad | a8 IR gl aSaufuTe-uRTi SRae1 SRpaqmrat sifauRist g @ IREiafif
AT YOIT 3i T W I | dogH URiid a1 SgaNIReRa™ 9% YY: F $Had WHGIY Savy QRS A 3 wwen |

Q.No: 2 FHIERY MfbHATY Uada?

A IR |
B GG

C RIGESEIGI
D SRR

Correct Ans : A
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Subject : Sanskrit Bhasha 02

Passage:

Hoa:- Sfeifeiad et ufdar Uyl fawearaeac: Sadars Sw e faeal

Sifafiger: foRjd: Sepaarga: dgi: Ufigdany: TRIMN: | WRpaued dfed dlihepiaid fge f[avaani| @ dfde Biaan efdary add | T IAGUERE
MfHITE Uadd | i fafad: Ffadee: R TXa0 | TY-aee i -SHIiGRIGH G adRIul euRary: TRART TRpauiediisd TRA: Tved: I
TRBITaI § Fag: HIE fAfTURREET W aama-an: Afeamuse TRUSIMRY: | Fa- GeIbTedl, $oF TeHIs-, Fa- Aehi- @ IGamig: |

T auier IRUTTON STHRE 9H: SfBIR | HRARSTHNY SR Holl: THHNSIUNT ST FReHdAT A AieHvS Tad M| BReafaRRexy
T AN e Tdhiead) IgRE:, &, T, TIae, Ao ARIHEUTE:, JifadHs:, Wfdiae-re Tyad: Taa: SRAaeRgauivsdr: 3| Aoy
ARRIVTHEUIG HH ST I Fd e Hgw@ ifamiie dud | a8 URadIed G aSauauTe-TuRT0l TRl IxpauTarl sfamRrer e ¥ TRmviafia
AT YOl SR TG Td: 1| o TR I TguRIRaRa® a® gud: - Had WSy vy IR AaT: 3fd gy |

Q.No: 3 Rguiig™ Yol &:?

A arefifa: |
B ;|
C HIferera:|

D NERR ARTGUHEITE: |
Correct Ans : D

Subject : Sanskrit Bhasha 02

Passage:

Tobe:- SreNfoRad izt ufdar v Rmeaeag: Sfyaaay S e foraal

Sifafiger: fo%jd: Sepaarga: dgi: UftgdaRy: aRad: | WRepaued dfed dlfheoaiifd fae vk @ afd Biaan ey add | T IAGUERE
MipHAIRE Tadd | Wi [Afad: Hiacero: G a0 | AE-aTeE b -BHITGRIT GBI G adRToN JerbTgai: TRaRid TRpaaiediugd IWRANT: Tosd: I
IR o Fag: BT RAFURIREAT Wb abiia-aR: WiedHvss IRUSITHR; | e Geleredli, Bo- TR, He Aesi o - |

TR IRUTTON STHRE 9H: ST HRASTHNY SRR Foll: TRHANGIUTINT ST FRAD AT A AGTHAvST Tad M| BRI AR
T AN 3 Ubieas| TgRERE:, &. 0.0 aw, Hea@R ARHEUG:, Jaays:, WIae-e T4ad: TaHa: SRaaspaausdl: S| Ao
ARRITHEUIG HH ST I Fd e TgwaH Sifaviie dud | T ARadIe SIS aiTe-TuRTo] TRl SRpaumaral sfmRier et ¥ TRmviaffa
TAHIERT TOIdT 3 AT d: a0 | Joqi URiEd I8 SgHORIReRa 0% gea: 7 $Had TG 3avy ARSI T 3 Sua: |

Q.No: 4 &: 0 Fravafa?

A RrfeRTs: |
B RSIIGIREEI]
C PIIE: |

D N TRTIUIETE: |
Correct Ans : C

Subject : Sanskrit Bhasha 02

Passage:

Thd:- feifeRad e Ul Uy s earam ae: Sadars S fHrar feal

sifafager: fowja: Sepaarga: dgi: uftgdaRy: uRaiR: | WRepauied dfed dfbefd faer vk @ e B ey add | T IHGUERE
WPHAITE Tadd | Aicrd fafad: FHicdearor: G T | HTE-ATeH - BTGRP A AT FASTIRLAN: TR IpadlieaHuse TRAr: fts: I
IR I F99: S0 Al =IRad! W agferbia-an: WigaHusy TRUNAHR]: | Ha Uehiedl, Ha- TSHIe, a- Aedi- 9 TaardR: |
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TFAUIeTRT URUNO 3TYRE 47: SR | FIERSTHY SRR Fell: GG eI HRATHA A A TgaHvSd Tad M| HReafaIRe Y
T AU e Udhiead | TgRMERT:, &, T TYawH, Heay TRAYEUIE:, faqus:, Widfde-re Byad: fayad: R auivsdr: S| Jedq
ARFUYEIT JRpSIIa I Fdl g HgwH ifauiie Idd | a9 ARG S ATayiUTGURTO ARa1 SRpaHISal sifauRisi fag 1 w: ARmofafafa
TAADTCIRI O il =TT |d: 1l | Tow IR T SgORIRerad a8 Jua: 7 $Had WDy SNy ARSI ST 3 58|

Q.No: 5 Txpauiedd - Sfud fqugare Rgd|
A g e

B Tpaw A

c Hepaged wifewH|

D g GxpaH|

Correct Ans : B

Subject : Sanskrit Bhasha 02

Passage:

Thak:— AeifeRad Tt Ui Wl e iey: Sfaaay Sw i foraal

sifafaye: faxa: Txpaargy: 9gi: uftsdals: uikdife: | dwpauied Aftd difesfa g faywmikn @ e B smeRy add| T YEmHumERE
AfrHAIgd Yadd | difdd fafad: Fiadeor YRR TG | HN-AIHb-BIGMIGdH aHaaRIvl qabINgay: IRaRd ReaalieaqUsd IRAT: dtsd: I
IRIfTaH| § Fag: HTo fAfFLRREET W I a-aR: Mieamust TRUSAMHRY: | 3a- YeIbTedl, $oe TeHIe-, $a- AeHi- 9 I9amiRg: |

WFAAIET URUNOT STURE 9T: BN | PRI SRS Fell: THANGAUINUT S| BB AN AeHUS od Q| IR ARG
T A Sa Ybieay| IgRTER:, 3. 0. Tqawr, Tedy IRAYEUIG:, Jfdqus:, Wifdfae-re] THad: Uaye-d: dRaaepauivsdr: 6| Ay
ARRIVHEUIG HEHorTd Id Fd awd Hgw@H Jifaiie dud | a8 URaIed G aSauiauTeTuRT] TRa-IH Sxpaumr sfauRiet faem @ TRmiaffa
BT TOIT ST T8 W IR | qow uiiie aRTe SEERIRRTR % §d: 7 $ad WHGIay Savy Ry Al 3 syen:|

Q.No: 6 I=iaH s TR Wt g e

A T
B TeaH|
c TaaH|
D I

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

Gk~ eI TR Ui Wl fAdeards e SRy S fwr foadl

fffge: faxga: WRpaarga: Igh: TteqaRs: IRUIRG: | WPaued died afbaiRd ol favaaafkal 7 It Braar SMaeRy eid | T IH™UIEGRY
AfbsHEd Tadd | i ffd: Pidawmo: UM e2ad| arg-aeie-sitrariesagaaiu qRrem™aH: TRaRid Ipaaitamust WAr: uftsd: I
IRSIGaH| o Fag: HIOY ATURMTEET WP A aPpTa-aR: Wiedmvss IRUSATHR; | F- GeSTedl, $oF Tadan, Fa- AeHii- g Iaarmg: |

TpaaTeTrRT URUINO STHRG $7: SHIR| PRERTHY SRR Fell: Tp oAU el HRagHdH A TfgaHusa Had WH=Tl PReafaTRey
T AU 3G Ubfead | IgRIar:, &, T TN, Hed R ARAYEUIG:, QGaus:, Wiafae-re Tyad: Tfaurard: SReiaepadisdr: S| Beey
TRIUIHEATE WP AT I P ad Hew@H G Teid | T IRAaTg TGN aaTe-Ta=Ir SR SXpaHmSrar st faemt) §: IRmaviaffa
TR JOrT ST 9T T | o TR IR SgeRIRaRa a gud: T Had WGy 3avy IR Aa: 3 S5 |

Q.No: 7 % gF4: 7 Dad WEDIAY, 3avy ARAG U ATl | H&?
A EuEsErEral

-
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B HAUTR TR™AUHGUIG™Y |
C Piicrera|

D FYTE TeTHITI |
Correct Ans : B

Subject : Sanskrit Bhasha 02

Passage:

Gk~ LTI TR UfST WAl fAwearsaesr: Sfaany Sw fwr foadl

ffIger: TR Fpaargd: Sgi: UUSdany: URTING: | Fepadiiod didd difbe i faun fayamiR| @ dfde PBiaan Maary add | T IHMUERY

mm|mﬁﬁa Ffdeao: G TR | G- e-

AeeTgfafy: aRaRid WRpamREHIST WRANT: Uftsd: I

PGB AHaaRIoT
TRSIAHI T $IT: HIAW AR WP AP Tia-an: AiedHisd TRUNAHR;: | Ha Teda-, - Tasiedl, $ad Aledii- 9 YaamHg: |

TR IRUTTON STHRE 4H: 3BT | HRARSTHNY SR Hofl: THINGIU ST FRED AT A AeTHUST Tl M| BRea AR

T U 3G Ubfead | IgRTar:, &, TN, Hed R ARAYETG:, TfFaus:, Wiafae-re Tyad: Tfauram: SReepauisdr: S| Beey

IRTAUHEUTE WP AT I Pl T HgwH] SHame gad | T8 IRASTRA NS RITGTuRI SRa1 Sxpayar s faemi| & TRmfafmiy

TR TOrT SR 9T T | o URIE IRAT SgeRIRaRasd a gud: 1 $ad WSy 3avy IR ATaT: 3id Sy |

Q.No: 8 ifeds fafad: piaeero: YR Txaq| o fadmomg e

A AfpHI
B fafad:

C Pladeor|
D Tl

Correct Ans : B

Subject : Sanskrit Bhasha 02

Passage:

Goba:— SreNferiRae Teiiel ufdar usm fasmerrareavea: Sfdaay Im fawr forad|

el T3 < JyH -RIoT,
iR Sgfammem |
YIRRYT: HTFI 3§ afe,
¥ T4 diaded TRRAII

Q.No: 9 '3fg:' 3T Fuew foramen sif?

A R
B o=
c @&
D PIY:

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

Harg:— Srelifarfad ueri=i ufdar wsrt ieeads R Ifiqadq Sw K Rraal

wiell g 2 wEl JRI0T,
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TR ST |
JUIRY: FIII R e,
¥ U digded WRAI

Q.No: 10 "R A Tec &1 faufe: sifr?

A i
B Tt
C feciar
D wii

Correct Ans : D

Subject : Sanskrit Bhasha 02

Passage:

- srelifarfad weri=i ufdar vt foswearersoreg: Ifuaaay Sw fran Rraal

el g 2 UyHl R,
CERCIEGEEINE Ll
FYIfRYA: H1gl 3 afg:,
T U9 dfgded WRAII

Q.No: 11 'gfeded 30w W= & oifk -

A 31%:+a3'8f
B e + Tgd
C % + e
D T + <8d

Correct Ans : A

Subject : Sanskrit Bhasha 02

Passage:

Tarq:— Srelfaiad ueriei ufdwr vt Aeeaaerg: Ifaaaq Sw e fradl

piel {3 < T =RIoT,
ERRIGICHERINE
FYIRRY: PIFl 8 afe,
¥ uq afgded WA

Q.No: 12 37 U faufandue fom eif¥?

A THRA
B o

c o
D Eaid

Correct Ans : C
Subject : Sanskrit Bhasha 02
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Passage:

- Srelfriad Ueri=i ufdar wart fomearasoreg: Ifraadq 3w fran Rraadl

iel g < gy =R,
EURIEICHEE NG ICE
FYIFRYG: PISTl 3 afg:,
9 T4 digdgd TRRAII

Q.No: 13 3 TS b Twa: U 3M&KI?

A AERpTT
B LEIITE
c A
D ELECEll

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

Hoba:— NI yri=l uidan Uyl fapedrareiaved: IRdaaay I fwr foradl

p1el g 2 T R0,
TRy IRl |
TUITRYS: TSl 8 afe,
79 aided IRRA|

Q.No: 14 &: TR0 Tl WF: 3ifT?

A PIY:
B WA
C afg:
D PIE:

Correct Ans : A

Subject : Sanskrit Bhasha 02

Passage:

Tare:— NI Tt ufdar gy fapeard® e Ifuaaas S forarn gl

el fg X gyHl R,
ERRIRICHERINEIEE
TUTIRYS: TSI {8 ales,
T 79 afeded WA

Q.No: 15 ey mgsaroni g e Hafdl|
A
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B AR
= il CRINGIR|
D LfaREE

Correct Ans : D

Subject : Sanskrit Bhasha 02

Q.No: 16 'gyféa: 3fd vew &: wig:?

A i
B TR
C TR(P:
D g

Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 17 ¥d S ---afe: 3T 3o Raaw™ wgfd ug faq?
A TR

B TRE
C TRIG
D TRE

Correct Ans : A

Subject : Sanskrit Bhasha 02

Q.No: 18 wfdE- 3fd e 9R-fae: &2

A R+ 3
B TR+-TE
C Taf+ae
D i+ ST

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 19 shfafa= et Hara aRad-am |

SRIBRUT U T |
A PRDR: AU IR
B PRHR: T Tl |
C PRDRT: T TFRT
D PRBR: S 4|

Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 20 R -IeET YUHIAHERN ThdaaH fh wui?
A it

B oy
C =1
D YT

Correct Ans : D
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Subject : Sanskrit Bhasha 02

Q.No: 21 fagwr 3 Uawd Ui Trafaum: Jed -

A fa+3q+Taq
B fr+afi+wayg
c fA+59+wY
D AR+

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 22 "yI:-+aTa' T T fob o2

A RIGSESIGH
B YId: e
C YT &
D YT §1e:

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 23 IS T: TAH: HT Y8 IJULRIN, USTIH TAG HART U R, F: Fal $iyal & 39 Rt w2

A Ta1 fige: g=q aat
B T TieT Haq e
C TeT Reie: arSaq aal

D T forRIET Haq @

Correct Ans : D

Subject : Sanskrit Bhasha 02

Q.No: 24 fmfifeay Fexh war ageiiei dameaf -

A 1w T Ve Riar RfEamEh eeha: Ty wiq 3 & ammit e amad wEaq

B 1 B4l ! GarTfaiae: §;, SHY Tafait g Samn: W, A Sediecerasn: RIiud: 9, Tie e SR TH0 erHT W
C 1 w4 Tt UeHral S 71 HafeauHg: ¥, aUl I UMi: 9le THaR IR sie: e Rmg:

D UIGTI gRT FTTOrdT TRIT GroTa g3 RRTHg e e

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 25 qeRaRI BT IUAIRIT dld?
A TG U

B Fear: e
C FAITd- 3rfE-Farum
D Ve 9 faweuT:

Correct Ans : D

Subject : Sanskrit Bhasha 02

Q.No: 26 FHNURHY IR SERUA 98 YHRIAUsaH] Yo Fa:|

A GEGHIL
B licwieiea)
C HINTATIR:
—————~— —
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D HYRIYIRAHIYI

Correct Ans : B

Subject : Sanskrit Bhasha 02

Q.No: 27 TRAdTE): T HTNIT: FRILURT SIR™: Hafd - Tdq $u diqafa aq-

A [rgui-arRIET, SYRoT faERfafra: ety

B UTSRIT: TR0 SR fraft R i

C HU SRV HTHIRTH G RIH ST
D R $a AH THE: SUR: &

Correct Ans : A

Subject : Sanskrit Bhasha 02

Q.No: 28 HUHHITGH A4

A [EEUERRIEaNEY

B ReffOrep-TERAeMBENY SMTeherTH

c ARTETERT YDA SHHETH

D TRTHEA-ASHISTIGRT SRTAIFSATT: ST

Correct Ans : B

Subject : Sanskrit Bhasha 02

Q.No: 29 T RifemeT Wi Ya-raarRol ver ar - M JTaTaRA SREUNTE RAG HA | SR Tafash ae e Sue e Migar 2

A fafrraremarrad fafrgedar afaree |

B AU JERETEGEI GIEE: TR
c ST U YEGRT UIGTaRg: WSIHU
D STANGAT LI Y wraeliar

Correct Ans : C

Subject : Sanskrit Bhasha 02

Q.No: 30 Fufafeay i s ure-mihar: sy sk
A fomamr:

B T&ddr:
C S
D GIcacRd

Correct Ans : A

Subject : Sanskrit Bhasha 02

Q.No: 31 = # 9 -1 IS iR Awr o1 wum =or §2
A A fdom

B IRIR® faPr™
C Ao e
D MRS e

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 32 T ) Ha & BI-91 Rigrd Iuant §

A St ¥ g Bl SR
B BIET Y WA I 3R
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C T ¥ IRy 3 ek
D T 9 3R BT SR
Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 33 5 ¥ § g-or $ Sudifiar &l 82

A ™ PR BT NI

B @R, T B B R B e
C Sfafkad T FT IguanT

D T B SR S

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 34 &=t &1 e & urg: R<iar undt o= 3=t WA § eFe Si3AIsal &1 T 4 § Hife

A T TRt Ok ST HIqUTST Y TR & 3R BaT 71
B 3 7 e fowdt e et

c &<t Wiaw & ufey 3 o Bl 31

D &= g »feT urwr 31

Correct Ans : C

Subject : Hindi Bhasha 01

Q.No: 35 fg=t HIwI-fiemr & fReMras aienr R o 7 ueH § geEdl Hul?
A &=t i femdf e daith b1 Bfdreal o1 T &% 38T 81

B TRERT 759 voR fREmif 3t wema s 31
C I faemf fram gigwm &1
D TR T 98 o R fremedf S drowy 7t fpan 81

Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 36 = & q i1 Iudrh -

A e 3 faefial & e 1 ¥9n F Rl
B faemdfal & 3R & gHAgH & forg
c faemdff &t yoifa s & forg

D T ST 1

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 37 frefr srawut & Wt efl & FIagiReG U $T 3R g UTe ISHT §1' T TiorT @t ag uRumst B & & foem & 32

A T
B EIRGES
C i
D 3RE],

Correct Ans : C

Subject : Hindi Bhasha 01

Q.No: 38 T & ¥ SiaT ud e 11 & farey et o Uefid Fvar 3 ?
A
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TR U

B % Uy
c 3ifeafa uear
D Yo T&l

Correct Ans : C

Subject : Hindi Bhasha 01

Q.No: 39 = & ¥ qd Meafie &R R BE I 301 &1 IH & $ [T F1 FH01 o Anfee?
A At g€ wemish &1 vl HeEr @R

B e =it ot w2 ofif = aifiu
C 1T I AT BT AT
D U= IR BT U167 Sl et

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 40 T8 HY [T ¢ ‘UIey-gas® Ri&0n ! & R ety vy fRiad &1 U@ et g1’

A SRR
B R
C B
D EARck:al

Correct Ans : C

Subject : Hindi Bhasha 01

Q.No: 41 =i &1 pY WUeSH Y Ped 8?2

A 5 <1eSt &7 YT o= WS §

B o wredt &1 o 7= A € SR TN IR ©
C [ERRCAEIE A IS

D o 1eal @1 o o= W €

Correct Ans : B

Subject : Hindi Bhasha 01

Q.No: 42 79 & } TWIAS IR & g =Ry -

A T SR U=

B U U

C THRD T=H

D TR W=7 TG T W=

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 43 4T {3y &1 UyH =R 3 & § o1 872

A EIGE
B Lignll
C ferg
D TG

Correct Ans : B
Subject : Hindi Bhasha 01
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Q.No: 44 TS 3/ W&o ¥ ST fa=iear 78f § 2

A Il T
B FHad aegfrssdl
C Faq faxaeriaar
D Faq dud

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

e SR fou U T @) UgaR I U URA & 99 3fEd SR a1 fAdmed o1 Tae Fiforg-

TH AMAY Uedl &1 A1eqd a1 aral i e W & g ST TFRie issarsii &1 faxayur #ve 316 A SR d% SHl U8 d&dl ¢l 39! UHR gd bt
U TG BT YT T US Gl §, Sl 39 M H AR BIH 371 b 3R O WPR $R A7 R gH IRad § Pis T HigT Ffifa a2 9%, g sk o ozl &
IR e 9| IET9R 39 TR R T R 88 I 8 § & gR iaR $9-3-50 W dF a9 dd ¢, o 50 Wl 31 Th-geR &1 9d 9id a1 3R I0e
B T 3T T YRR ‘AT, ‘G TUT "GHed BT 9149 <d &1 3P BH g9R YR HHRT: T, HIF 3R 3BIET B SR B 3 3P dRAdD T &1

B ¥ 37 SR B Hea SR SN F U § € &) o Fobell 3 R T Poft TR Qe TS TS O T | T B GRI IS-A-B1S AR MR gt
Fd 7, o FRu g1 3¥ A’ &1 o 9 fem wd 2

TM9-UehdT S IS UG Bt Wl & o1 AR ufssarsit &1 fazasor offda 31 =Saqr, gder iR Uoed’ T AHRGG ad HH: IH, T 3R 3ihier &
ST ERA g1 D1 SHRad Ha-oifd § gt 31 TS 30 ged § 581 & §RI Bls Sgud fovan oean 7, o 50 oafaa- iy & sfgyar &t I3 & &1

Q.No: 45 I9ga g & fw i # 9 3fRra <fide &1 =97 -

A ‘a?‘F‘"', \mlah—{‘m,
B A Tl BT A HIGT |
C M, YT SR Srebiem

D Spienst &1 Ted

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

= R T T TR 3 UewR U@ U URAl & 9aY Sfad IaR a1 [dded BT 94 Bifore-

B TFdR Uaar &1 91 S aTell SHf¥d S1ad HIGHT & 1T Sio-t IR uftharahi o1 faeivor $re 3% g SR 9% oHT U8 0l ¢ 33 UHR 8o it
U T BT YT AT IS Al §, S 39 30 H AR B 31 T 3R PR WPR FR A7 R g0 IRad § $is T |1 FHfifa 7= 9, P R @ o &
IR d o | IEIaR 39 UHR f39R 3 W g8 I &I ¢ & gaR iR 1-3-%0 8 & 7k ad g, O g0 mit &1 te-gek &1 4@ Hid a1 SR qen
FRU §1 3% o AIYRU: AT, “Hde! TU1 "GHed BT M &4 ¢ | 3791 B AR HaR IR M, HE 3R SHablell B O IR 3= 301 Addd FY 1
BT §1 37 I BT Hod=1 gHR ofidd & IR T g 31 o Fabvell § SR A Ht 0 Jeh 18T TSl S U | 361 & gRT Bls-A-Bls AR SFJufd gan

I 8, O FR 59 3Q ‘@ @1 o T R B 7

TFI-TehdT S D UG B Wiel & o Arfies ufsrarstl &1 fazewo 0 31 =S r, Sder iR Thed’ U AFRG ad HH: IH, T 3R i o
A TR T | ZHT SR TG-S 8 81 I 39 g5 § 38 & g1 By 3Hd fhan axan 3, RN o0 aafea-fadiy & s/uar 3t I 3a €1

Q.No: 46 QU TR & 3R, AFG-THdl B YD HIGAT Bt Gl & 1T

A AR ufranell F1 Ao sifde B

B TRy fharei 1 faRawur sFfEE B

C et o safda & wfar Sy &1 Wi 7 g1 iUl

D fact +ft safd & vl SaRar o1 4@ 7 g Afeul

Correct Ans : A

Subject : Hindi Bhasha 01

Passage:

Ew: F T T TRiw $Y UgHR g U URAl & qed Sfud SaR a1d faded &1 9 $ifo-

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 12/56
Page - 12



TH AMAY UHdl &1 A1eId a1 aral i e HIaT & g ST TS Uinarsi &1 faRaNu HRe 3% T SR a& ol U bl ¢l 38 TSR gd fht
U Id &1 Udl T U ol ¢, Sff 39 &30 H §AR S 3 & 3R o WHR % 9 W g9 arad § Hrs Gl wraen (g ax 9o, g g oft vl &
IR i o | IETUR 39 UHR 0aR 3 R &8 I i1 § 1o gaR iR $0-3-30 W &7 7R dd §, O o0 it 3 to-gR &1 79 | a1 SR a0
BRI B 3¢ T IYRU: ‘AT, GdeA quT ‘YHed BT 919 <d 31 3761 B gHR YR HH: T, HIF 3R 3fBiel B R BR 38 3IP1 aRdid® &Y &1
BT 1 7% 31T & Heu gaR Siiad & gRax # g1 & off Yaball © oMk 3 Hoft §HY gy I THY S Uha| 361 & GRI Dle-1-Pls MRS S gl
P! B, o PR 8H 3 “AfFe’ o1 ot T foar aa B

AFA-THdl S ATqH U B TIol & [T AR isharsil o1 faxemor siféd 81 =T, ‘Haer 3R ‘Wehew U AFRIG dd Sl IH, Ud 3R Sidwier &l
S R4 & | 31 T AFa-oifa 7 81 81 7% o7 ged ¥ 381 & §RI Big 3Hd fhar axar 7, O &0 ‘aafeq-fady & syar &) 9w 2a €1

Q.No: 47 ITH TN F 3R, TAR N $H-I-HH T o TRie aa & B o0 T+t B Uh-gwR &1 49 Jd a1 SR TH P4 82
A T HARIS ad &

B < gAR® 99 §
c &9 7RIS da §
D Ui AFR® a9 &

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

= R fau U TR @) YgaR g U URAl & a9 Sfud SRk a1d [aded o1 99 Biforg-

B THdR Uar &1 H1ed S arell e smad HigHT & e Sioet I uftharaht o faReisr Hrd S% g SR 96 ST U Tl ¢l 38 TR gd it
T I P U T US [Hal 8, O 30 S0 H TR B 3 TP 3R PR TR R A7 IR g0 IRad & D5 98t HigT it w5 9%, O gar ot At &
IR d =t | ISR 39 R R 33 W g8 76 I ¢ 1 AR iR 35-3-%0 T &9 7R ad 8, B g0 Wit 31 th-goR &1 4@ Jd a1 MuR qaen
PR B 3% gH WYURUG: T, ‘GG IU1 Thed T AW d &1 37D B AR R AT FH, HIT 3R S(Hie B SId PR I 0] aRAAP =Y &
BT 81 37 ST BT BT gUR oiide & IR H & 31 o abvell g 3R A Holt g0 Jueh e Gl ST U | 361 & GRT Bls-A-Pls SR SUfd gan
Bl g, o9 BRI g7 38 *aafdfise’ & off A fear owd B

TFI-TehdT S S UG B Wiel & o1 AR uisharsil 1 fazawor O g1 ST, Hder iR Heed’ U AFRG dd HH: M, HId 3R rHier &
ST B | DT SHRId -9 H g 51 TS 30 §ed H 381 & g1 Bls, 3IHd fobar el 7, ol o7 "aafea- iRy & sigva’ &1 I3 &d 8

Q.No: 48 JuYad T & 3NN, = ORI ded HA: T, HIG 3R SfhieT B S Hd €1
A GGl

B e

C CCEE!

D BT, FaeT IR e
Correct Ans : D

Subject : Hindi Bhasha 01

Passage:

R A T T WY $ UgaR UP T URA & 9 3fd SR ard faded &1 9o Sifon-

T AMAIg Ushdl &1 AIeqd §F aral i sde HIaT & g St Tfie Uftarsii &1 faxaNur #Re 396 4 SR a% SHT U Il ¢l 39! UHR gi fhat
UY I &1 9dl T TS Thdl ¢, Sff 39 &M H §AR S 3 IP 3R o WHR % a1 R g9 arad 8 $Is Tt wraen Ffdfa a= 9, o gar oft vl &
IR e ot | dTIR 39 ISR faR o3 IR g6 71d 211 § & gaR iR $0-3-%0 0¥ 3 1R a7 8, B 0 9t &1 ta-gak &1 g9 Hid a1 snyR qHen
PRd T 3¢ &8 IRV YT, GAGAT TUT GHeT BT I Sd &1 3901 S gAR HIeR HH: JH, UG SR (D& B ORI IR 3¢ SP] IRAD =0 &l
BT 31 37 iR BT PeaT AR S P URAT & € B o Tbdt 8 IR A Bt o7 gu TS I O T THT T R BRE-T-P1S AR IR g
Tl B, o PR g9 39 “Afe’ 3 ot A e aRa B

HFa-TSHdl S ATaH HaHT & @iol & 1T AR ufsrarsil o1 fagesor siféa 81 Saqr, ‘Haeqr R e T IFiid dd SRl IH, HId 3R Sidwter &1
ST ERd ¢ 1 3P SHRad HFa-oifd § €t 31 7S 39 ged § 581 & §RI Bls SgHd fovan ol 7, o 60 oafod- sy & sy’ &l O3 & €

Q.No: 49 ITYH TR F SIER QUIA: T HYT BT 997 PIoIC-

A % TR MR FU-3-F0 W 7 9SG 7 §, B 70 T ) TH-guk B ga Hid a1 MR TH F ¢ 38 o WIURIE: A, "Gagr T
ST T M 3 €1 ST B TAR iR SHY: T, HIE IR S(Hiel Bl SR B I Il arKifae ¥ & gl g

B
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 13/56
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TR iR F9-3-50 W &7 7RIS 7 §, e 50 3 3 Uh-goR &1 U 9 a1 YR I90 3 §1 56 60 IURUG: ‘S0, "agr aur
HHET" BT AW 3 &1 751 B AR R HHAY: JH, T R HIET B S FR 93 IIPT AP &Y &1 Sl g1

& TR HR $9-3-50 W 1 anRE 9 §, PR 70 Wit &) Tr-ga o1 99 6id a7 SIYR I990 314 ¢ T8 o7 IIUR: “aT, “Saer aul
“HeheT PT M A &1 5701 B AR iR HAM: T, ATerd 3R A B SR R I= SI0] aRafds T4 1 gidl gl

¥ eaR MR FU-3-50 W 9 99T 9 §, B 57 Wit 1 To-gR 1 97 9Ia 91 SR THE $Rd ¢ §% o7 WIHRO: IR, Gagr aur
YHAGT BT M S &1 FT01 HTH TAR R HA: TH, MY 3R UG H) I $R S8 ST aRaidd &7 1 8l 8

Correct Ans : B

Subject : Hindi Bhasha 01

D

Passage:

e R fou U i @) YgaR g U URAl & 99 3fUd Sk a1d fdded o1 99 Siforg-

N AT UHdl &1 Wegd S ara Sif¥id s HiaT & e s IRy ufsarsh &7 fazamur $Ré 3% @ SR aF ST Us ol ¢l 33 TSR g fhet
T I T Udl T TS hdT ¢, Sff 39 &M H FAR S 31 TP R o WHR $X o7 W g9 dRad & Dig Q1 WG FHiHd & 9, s g Wit vl &
I fd | TegaR 39 TR 3R 33 R g8 I 21 § & AR fidR #9-3-%4 ¥ &7 9l d@ §, RO er quft &1 te-ga &1 79 Wid a1 SuR qaeh
B §1 3¢ S IYRUI: AT, g auT "Ghed &1 91 <d g1 STH] B gaR IR R IH, HIF 3R 3fHiel I SR HR 3¢ 311 dRdidd ©U &1
BT B1 3% ST BT ST gUR i & URA H § ) o Tabvall § 3R T Hit 0 gy 18T QU ST G| 31 & GRT Bls-A-Pls ARG SFUfA gan
Fdl g, Ford HRoT 89 38 “Afdafes’ &1 o 91 fear #d Bl

THG-TEdl Bt AYd IS &t G & 1T TFRTe uftharsii o1 fageror siifé g1 Iaar, Haear $iR ‘Hhed’ T AFRieG dd HHsl: IH, UG SR st &
S &R ¢ | 30T SiKid AFG-od & g1 31 A9 307 g&d B 30l & Rl $is M fhdl &l 3, ol g0 *Afea-[a=8W & [ya’ &1 U7 3d g

Q.No: 50 74 # ¥ DI9-91 Ysg 3MTehien o1 uaigar g2

A o
B Y
C SHTH
D SffdrerTen

Correct Ans : D

Subject : Hindi Bhasha 01

Passage:

= A AU 1T TR ) UgaR e U URAl & a4 3fHd Saik dTd [ddbed ol 94 Biforg-

B AFG Uwdr &1 A1 S arel e S I & T SioH AFiie Uitharah o faRdnr $d 3% ga SR 9% ST U8 Uhdl ¢l 38 TR g4 et
U I &1 Udl TIHT TS Jabdl ¢, Sf 39 &M H THAR S 3 TP 3R O WHR % a7 R g9 arad § $Is G Hiaer (g &= 1, o g oot vl &
IR et S| TSI 39 UBR 8RB )R &6 71d 81l § & gAR iR #9-3-37 W &9 7R ad €, R g9 3t 3 uh-gak o1 99 Aid a1 3MuR q9=m
TR ¢ T8 gH WIURUM: AT, "HAGAT, T4 Hhed FI M od § | 70T B AR MR HA: JH, UG 3R HH1e BT Sd X 3¢ 3701 ARAdd = o1l
BT 81 3% 3IfRIT BT HUAT GAR Sita & IRIY & €1 Bt off bl & 3R T HH 308 Guyep 16T THSY off Tahdl | S61 P GRT DIS-A-PT8 AR gyfa g
! 7, T SR 89 33 *aafdafes’ & ot 91 fomr #d B

THA-UHdl $| HUS UG S @il & [T AFRIG ufsbansi &1 fazavor sufg 1 Sar, Haear iR o’ @ aFie ad HH: M, HId iR sidier i
S B 8| 3D1 I HHa-ofa & 81 81 T - g6 § 381 & gRI Big 3gHd fhar axal 3, S &0 “aIfda-ady & s/qyar ot I 3a §1

Q.No: 51 Wolfed I U9 9159 TR & fow A & 9 & wse &1 994 Sifoe-

A TSI B SRIPT THA BTN

B % wraga 8, I 31 Ry S
(o D R Bl TP THI

D Fad SIed THSB-GHP, HiR Sraara|

Correct Ans : C

Subject : Hindi Bhasha 01

Passage:

FEer: R 3T T TR @) UgaR 8 U URAT & 99 SfUd SR aTd f[admed BT 94 Siferd-
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TH AMAY UHdl &1 A1eId a1 aral i e HIaT & g ST TS Uinarsi &1 faRaNu HRe 3% T SR a& ol U bl ¢l 38 TSR gd fht
U Id &1 Udl T U ol ¢, Sff 39 &30 H §AR S 3 & 3R o WHR % 9 W g9 arad § Hrs Gl wraen (g ax 9o, g g oft vl &
IR i o | IETUR 39 UHR 0aR 3 R &8 I i1 § 1o gaR iR $0-3-30 W &7 7R dd §, O o0 it 3 to-gR &1 79 | a1 SR a0
BRI B 3¢ T IYRU: ‘AT, GdeA quT ‘YHed BT 919 <d 31 3761 B gHR YR HH: T, HIF 3R 3fBiel B R BR 38 3IP1 aRdid® &Y &1
BT 1 7% 31T & Heu gaR Siiad & gRax # g1 & off Yaball © oMk 3 Hoft §HY gy I THY S Uha| 361 & GRI Dle-1-Pls MRS S gl
P! B, o PR 8H 3 “AfFe’ o1 ot T foar aa B

AFA-THdl S ATqH U B TIol & [T AR isharsil o1 faxemor siféd 81 =T, ‘Haer 3R ‘Wehew U AFRIG dd Sl IH, Ud 3R Sidwier &l
S R4 & | 31 T AFa-oifa 7 81 81 7% o7 ged ¥ 381 & §RI Big 3Hd fhar axar 7, O &0 ‘aafeq-fady & syar &) 9w 2a €1

Q.No: 52 = § § vgueR & o I IR 82

A oy iy
B < Wiy
C ot |y
D o iy

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

SR ST B Ugax G T WAl F a4 3Id IR a1l fadey &1 997 Bifore-
Bl HY T B TS G2

S P g SMUTI-31, GG & R Imal-30

o1 98 YU R, firam!

e i, e i 3T gl 9 59 B IRY?
- & I, TR B SR Iie-ar

T e TR, fram!

o o, R i ofi Focht, SRA T SO P

IH1 T DI Yo IRAA-HT, SA-Uud & I oa-i,
3t a5 HeUT-ER TRRI-

fo5R i, e SR Va1 G- 39 B W G2

Tl B T B T G2

Q.No: 53 = & § Iwieq ufdadl & feran &1 919 sarge-

A TRt Rig feTax
B 3R

C TRl 9t

D IR BTt

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

=1 B BT UgHR G T URAl & Ja IFId Ik a1e! fadbed &7 797 Bifon-

Bl HY T B T G2

S5l & g SATHTI-T, SGfd & aRIerd Ieral-2n

T 98 TR g, e

R i, TR i 307 gl 9 34 R SRY?

- & I, TR B SR Iie-ar
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 15/56
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o7 firem g, e

TR i, TR T Siid e, SR T 39 991 2

I T i I IRAA-H1, STA-UuTd & I wa-,
o} a5 Peun-R TERI-

R i, e o AT g-gi1 39 &I 0T 2
Fel HY T B I G2

Q.No: 54 IPH Ukl & SIER Rad = 3 gfif Fifvre-

AT & I, o g, faam
A gt i S o
B pierl S o
C arreit Y SR [r-ar T
D Sl B a)E U

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

A B B UgHR I T U & I IR IR I fAped $T 79T Bifvm-
BRI HY T B G G2

SIS & g SMTUTI-31, S & wRidd Idwl-30

Y1 9% YU R, firgam!

T3 o, R ol geoT Bl 9 3 R ST
IO & FPT, TRISH B BRI -1

o7 e g, g

i i, T i offd e, RA SV I P

I T DI I IRAA-HI, STA-UuTd & IAd wia-4,
o 98 HeUN-ER FRRI-

R i, fram SR aT I-gu 39 B Ul G2

el PY T B T G2

Q.No: 55 fmfefed 7 § dgerr Wsg o T B
A S[SUHIT TH

B PHYRY WA

C g Y

D fery wa

Correct Ans : B

Subject : Hindi Bhasha 01

Passage:

ST ST BT Ugax G T U=Al F 99 3R IR a1t faded &1 997 Difore-
FE FA T B Ju

S & g SMTUI-A1, S & wRidd Idwl-30

4 98 YUY gwRRI, Tadd!
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v all, TR il 3wt il o 39 2 12
- & I, dRISH B BRI Agl-a1

T e qRRT, Taae!

o i, TR i oifd Paddl, RAV IR

IHT FA DI I IRTA-H, T-UUd F I o2,

o 98 FeuT-fR TRR-
ftr o, e sfR T gu-gm 39 &Y T G2
BY) HA AT B JHA 2

Q.No: 56 a1 ‘ag o U fobar e’ & forw a1 & 9§ T <1s 1 99 Difole-

A feanfrrenfyat
B foresif
C forardi
D ELLiE]

Correct Ans : D

Subject : Hindi Bhasha 01

Passage:

I =T: B BT UgHR Iy T U & Jo IR IR aIet [Abed $T 79 Hifo-
ERETREEIREEEH

S P gd SUTdl-4, ggfd & aRierd Ieral-41

YT 98 YU R, MadH!

R 7, T il geoT &iell ok 39 2 12

- & Igr, arrsil oY Hivya Iigl-an

T e g, fraam!

o= o, o ot offe !, S 38 S92

IeP] T I o GRAA-HI, TA-UuTd b I STa-H,

ot a8 Heun-2f® JRRI-
R o, e SR el ga-g 39 &I 07 2
BEI PY T B GHI G2

Q.No: 57 IqYaq Ufeadl & oFuR Rad wF &1 gff Fifre-

IeHT H DI I gRAA-, , ot 95 Houn-z® gl
A SA-YUT & ST ore-<f
B W Py
C TEHdl dad QG
D i W TEaRd i

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

ETr: BT B UgH? U T U=Al & Tad SfUd SR aId faded &1 997 Hifor-
Tl HY T B T G2
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S & gd SMMUTI-31, GG & Ridd Idml-30

o 98 WUH gerT, Taad!

R o, R i 5T Bt 9 39 IR B2
- & I, TRISH B BRI Ire-a

o7 firem g, e

o i, o= i offd Faell, SRA W T R

I T DI ¥ IRAA-HT, SA-Uud & I wa-f,
o} a8 Heun-fR TRRI-

T Y, a1 go-g7 39 & 0T 2
Fel BY T B [ G2

Q.No: 58 7 & | fory wree-gm &1 wanT Iude vkl & fasan mar 82
A FI-HI

B - R
c g-g
D =R

Correct Ans : C

Subject : Hindi Bhasha 01

Passage:

FIEw: PTea &1 UgHR gP T U=l & Fad Ifd Sk AN ey &1 967 B
B! A T BT qHS 2

N F g SMET-91, TG S Rferd Iearci-

1 g8 U R, !

TR o, O ol 51 Bl s 39 R STef?
- & I, aRIS @ S -

o7 firem gRRT, e

o i, o= 0 oifd waell, SR 38 JaT Q2

I T DI ¥ IRAA-Y, S9-UUId & I oiat-4,
¥t a5 oun-eR JRRi-

R i, fraw! SR RUdT I-g7 39 & u1 2
Fel HY T B [ G2

Q.No: 59 9 & I FH-91 Teg N BT AW g 82

A <4a1
B e
C gH
D Fregean

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 60 oTq Hfxd Rem &1 gud= =i § 3 5y foare grr o ma ur?
A i SYdt gRT
== fAfArTT =T

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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VI IMINTMTST )N

B
C faferrg eeR gRT
D Wy Ry g

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 61 What should come in place of the question mark (?) in the following question?

2466899
1638 +?2 =18 x 7
fruffed Uy o usars fag (7) F RIF W 1 3 9ige?
1638 +?2 =18 x 7
13
A
13
12
B
12
17
C
17
19
D
19

Correct Ans : A

Subject : Mathematics

Q.No: 62 If the square root of x is the cube root of y then, what is the relation between x and y?

2467094
& x &1 FYA y ST 99A 7, o x 3R y H o1 Tay g2
X3=373
A
X3=Y2
2=y
B
X2:y3
X=y
C
X=y
D

Correct Ans : A

Subject : Mathematics

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 19/56
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Q.No: 63 Find the ratio of Rs.1.2 to Rs.2.4.

1.2 399 9 2.4 IUY HT 3 F1d B

2:

2467414
A
B
C
D

2:

1

3

Correct Ans : B

Subject : Mathematics

Q.No: 64 Ifa:b=2:1landb:cis6:9, thenfinda:b:c.

Ife a

4:

2467431
A
B
C
D

4q:

2:

2:

Correct Ans : A

:b=2:13Rb:c, 6:9% da:b:cIdPiIul
3

9

Subject : Mathematics

Q.No: 65 The perimeter of an isosceles triangle is 50 cm. If one of the two equal sides is 16 cm, find the third side.

2467568
S FHigag Aye &1 uierg 50 et 31 af < gue yonsh & @ uw 16 9t B, @ i oon 3 #fm
10 cm

A
10 3t

B 16 cm

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

20/56
Page - 20



16 94t

25 cm
C

25 4t

18 cm
D

18 4t

Correct Ans : D

Subject : Mathematics

Q.No: 66 The ratio of bases of two triangles is x : y while their areas are in the ratio a : b. What is the ratio of their corresponding altitudes?
2467623

S IS & SMURE BT 3FUI x : y € S 3P &bl &I SGUd a : b §1 D! WId SHargdl T SUrd &1 872

a X

< w
o w

ax: by

ax : by

ay : bx

o
<o

<o

a
Correct Ans : C

Subject : Mathematics

‘23"1'107: 66677 If the area of a triangle is 250 m? and base : height is 4:5, then find its height.

Tt o T w1 g 250 #2 & o amem: Send 415 2, & g S T Fifa

25 m
A

254

20 m
B

20

45 m
C

45 7t
D 30 m
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30 4

Correct Ans : A

Subject : Mathematics

Q.No: 68
2467754 1f

% and 16m + 10n = 44, find the value of m.

Blw

afe %% 3R 16m + 10n = 44, m BT T J ST

2
A
11
2
21
2
B
51
2
1
J_
2
C
N
3_
2
4l
2
D
4l
2

Correct Ans : A

Subject : Mathematics

Q.No: 69 What least number should be added to 680 to get a perfect square?
2467944

% gl @f Tt R & W 680 & @ At ey T St ot aifgue

49
A

49

51
B

51

62
C

62
D 80
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80

Correct Ans : A

Subject : Mathematics

Q.No: 70 By what least number must 72 be divided to get a perfect square?

2468021
e gl @l T TR & e 72 Y e =gean e ¥ fawifsr e s anfgee
a
A
a
B
2
6
C
6
3
D
3

Correct Ans : B

Subject : Mathematics

Q.No: 71 Identify the algebraic linear equations from given expressions.

2468334
ferg Tq e § Sl YRad FHieRull S Ugaig
x24+2=3
A
x“+2=3
x*+x=3x
B
¥ +x=3x
x+3x+2=5
C
x+3x+2=3
3+2=7
D
5+2=7

Correct Ans : C

Subject : Mathematics

Q.No: 72  Effective drill work corresponds to which statement?
2468433
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T 5 o1 5 wue | defE 32

New facts or rules should not be given in the drill work

A
@ o & g aaf sryar e 6 fag o @ifee
Drill exercises should be short and distributed over a period of time
B
g enare Bier B =1feT SiR I¥ wHaEY & et g1 Aoy
Variety of problems will make the drill interesting
C
fafye R @ TrRaTd 139 Y AP I ©
All of the given options
D

T M Wit fawe

Correct Ans : D

Subject : Mathematics

Q.No: 73 Which of the following statements is not true about ‘mapping’ in mathematics?

2468510
i # wfafemor & g Fofiféa syt § § oF-u v T8 82
Mapping promotes proportional reasoning.
A
wfafrE, sngufies e @ v e &
Mapping is not part of mathematics curriculum.
B
iR, TR UreTe BT W e §
Mapping can be integrated in many topics of mathematics.
C
Hfafemor &1 I & &% faudl & wHeaH far S 9ol §
Mapping strengthens spatial thinking.
D

ufafE, wWiRe RicT @ e &

Correct Ans : B

Subject : Mathematics

Q.No: 74 To locate specific learning and instructional difficulties is the main aim of-

2468536
faRry fuan oiR e FioTal HT 4T T [BueT 487 524 57
Comparison
A
SR
Prognosis
B
C Diagnosis
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fem

Prediction

Higsgaroit

Correct Ans : C

Subject : Mathematics

Q.No: 75 Classify the following polynomials as monomials, binomials, trinomials. Which polynomial does not belongs to any of these three
2469862 (ategories?

fafiiea sguel ! teug, g, A & % # Fifega s S a1 agug 37 <7 IFm A § 5l w0 7 emare

1000
A
1000
pq+qr +rs + sp
B
pq + qr + rs + sp
5pq - 4qr + 6rs
C
5pq - 4qr + 6rs
pt+tq
D
p+q

Correct Ans : B

Subject : Mathematics

Q.No: 76  The common factor in x2 + 7x + 12 and x? — 5x — 36 is:

2469917

2+ 7x+12 AR — 5% — 36 ﬁmw%

x+4
A

X+ 4

X+ 3
B

x+3

xX-3
C

x-3

xX=-4
D

xX-4

Correct Ans : A

Subject : Mathematics

Q.No: 77
2470006

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 25/56
Page - 25



The HCF and LCM of two polynomials are (x + y) and (3% + 5x%y+ 2x3y? — 3x%3 — Sxy* — 2y9)
respectively. If one of the polynomials is (x2 — y2), then the other polynomial is:

<l 9gUel & HgTH FHIIGdD 2R TYTH AHTTAD HH: (x+3) TAT (355 + Sty 2052 - 3xlyd —
sxyt— 2y9) B A1E TgUET A 4 U (22— v?) &, T GUY 95 e &

Ixd — 3X3}' + loxzyl + 71{}’3 + 234

A
3x* — 8x’y + 10x?y? + Txy? + 2y
3x*+ 8x%y + 10x%y? — Txy? +2y*
B
3xt+ 8x%y + 10x%y? — Txy? + 2y
3xt+ 8%y — 10x%y2 + Txy? + 2y
C
3xt+ 8xy — 10x%y? + Txy? + 2y
Ixt + 8xfy + 10x%y? + Txy? + 2yt
D

Ixt+ 8xfy + 10x%y? + Txy? + 2y

Correct Ans : D

Subject : Mathematics

Q.No: 78 Speech development is not influence by -

2473748
WIS T &1 g et vl § -
Health
A
RSIR2)
Intelligence
B
E
Family relationship
C
iR ey
Monetary
D
Hal

Correct Ans : D

Subject : Mathematics

Q.No: 79 Which two signs should be interchanged to make the given equation correct?
2479396
1+6-4+2x3=10

fau U e & 98 9 & o food <) fomgl @1 Siow # 9ga S Anfgu?
1+46-4+2x%x3=10
A -and +
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- 3R +

< and X
B

+ 3R x

-and x
(o

- 3R x

+ and -
D

+ 3R -

Correct Ans : C

Subject : Mathematics

Q.No: 80 If + means -, - means X, X means + and + means +,then 15 x 3 + 15+ 5-2="7?

2480929
g+ -, - BTl x, x FTF AR + FT3f +8, W15x3+15+5-2=72
(]
A
0
6
B
6
10
C
10
2
D
2

Correct Ans : C

Subject : Mathematics

Q.No: 81 The two most common assessment methods are listed as follows for teachers’ reference:

e et & e % forg <) Ied I Yeiesd fafidl & FegaR Seiee o mr @
Formative Assessment, Summative Assessment
A TATEAD T, TRIRIT Hedid
Summative Assessment, Cumulative Assessment
® TRTEP 3Mpe, Fad! ST
Cumulative assessment, Formative Assessment
¢ Gt Yedic, IS HedidT
Formative Assessment, evaluation Assessment
D

IS 3Tebe, HedichT Mher
Correct Ans : A

Subject : Mathematics

Q.No: 82 Which of the following implications cannot be derived from Piaget’s theory of cognitive development?
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2481710 fofufed & § o1 W FRRad o™ & d9Mas faer & Rigia ¥ 78 o o1 I@ar 82

Sensitivity to children’s readiness to learn

A < 3 o il 8 e 3 R g
Acceptance of individual differences
° R A
Discovery learning
¢ SFT S

Need of verbal teaching

D e Riew & smazawdr
Correct Ans : D

Subject : Mathematics

Q.No: 83 The stage of development is
2481792
1. certain

2. uncertain

2. AT

Only 1 is correct

A PIT LI E

Only 2 is correct

B PIA2 T8

Both 1 and 2 is correct

1R 23T w8

Neither 1 nor 2

D a1 eiRad 2
Correct Ans : A

Subject : Mathematics

Q.No: 84 Priya bought 8 doormats, 3 dustbins, 5 towels, 'n' wipers, 3 soaps and 2 mirrors from a shop and paid total Rs. 1535 for these

2481820 jtems. Price per
item in the shop is given below:
One doormat - Rs. 35.125
One dustbin - Rs. 50
One towel - Rs. 85.5
One wiper - Rs. 30
One soap - Rs. 25
One mirror - Rs. 90.75

What is the value of 'n'?

X Y T gHH ¥ 8 SRAT, 3 oM, 5 diIfed, 'n' AW, 3 TG 3R 2 313 TS 3R 37 Ixgait & o $a 1535 S0 &1 YIaH fbarl goH o

i ovg ged N R man @
% SRAT - 35.125 390
T HeqH - 50 TUd

T diferdn - 85.5 ¥0d
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D

TH dRW - 30 304
& UIE - 25 T@

T 37T - 90.75 398
'n' B AF T 32

12
12

18
18

16
16

14
14

Correct Ans : D

Subject : Mathematics

Q.No: 85 Which of the following factors supports learning in a classroom?

2481834

D

fafifad & | o 91 oR® e § Fhe o 99T Har 82

Increasing the number of tests to motivate children to learn

T B T /g IRT T F e wiewll @t gem ser

Supporting the autonomy of children by the teachers

et gR1 St Y T o1 gAY

Sticking to one particular method of instruction to maintain uniformity

THFETA F91 TG4 & o e & 1o e ol & o e

Increasing the time interval of periods from 40 minutes to 50 minutes

dikaey & 90y SieRTd $i 40 e 9 Fg1aR 50 e S

Correct Ans : B

Subject : Mathematics

Q.No: 86
2482331

D

When your student performs well you will—
& ST el SreT HeRliA Bl Sy -
express your happiness
3ot g=it s

admire him

IHD! TR BR
feel jealous
Suf %

remain quiet

U@

Correct Ans : B

Subject : Mathematics

Q.No: 87
2482428

C

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

Mathematics is not required in which of the subjects.
feper feyerar % ifore &1 s e @2

Physics

v fagm

Chemistry

T fawe

Geography
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D History

Correct Ans : D

Subject : Mathematics

Q.No: 88 Which is “feedback” in the newspaper’s communication?

2482489
FER P AR § "BISsH” HIF T 8?
A Articles
B ﬁdltorlals
Letters to the Editor
C
TuTE® & 9
D News
YRR

Correct Ans : C

Subject : Mathematics

Q.No: 89  Which of the method of teaching mathematics is based upon heuristic method?

2482603
T T &1 HiF T A Sigmr ugfa W snetfa g2
A Synthetic
B Analytic
C Demonstration
D Lecture
ARAT

Correct Ans : B

Subject : Mathematics

Q.No: 90 The sum of three consecutive odd numbers is always divisible by:

2483828 diq pAFIq fawy Twemsii &1 ot 9 § J foras gr1 &g v grme

A

D

NN 1l WWw NN

Correct Ans : B

Subject : Mathematics

Q.No: 91 Environmental impact assessment is:

2469359

TufaRuia gUTE S &

The study of feasibility of a project
A

& UG 31 HEERIdr BT o

A study of bio-physical characteristics of the environment that may result from a human action
B

TaiaRY Ft Sa-2ifeE faiwarsl @1 uw s S Ara i & uikomRaey g 9%t §
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C Study of food policy action

@ e SRars o1 sreagT

Cultural and political activities

Tiepfaw SR IeFifas TafafEr
Correct Ans : B

Subject : Environmental Study

Q.No: 92 Which of the Indian state has maximum numbers of tiger reserves?

2469524
YRA F 5T o B a9 oifie a1 siaRvg 82
West Bengal
A
CECKUIG]
Andhra Pradesh
B
iy T
Madhya Pradesh
C
ALY W
Rajasthan
D
RSTRAT

Correct Ans : C

Subject : Environmental Study

Q.No: 93 The word ‘family’ is a Hind variant of the English word family origin of the word family
2470053

RaR a5 3l Teg Family &1 fgdt ©UR §1 Family Teg &1 Jdfd dfe umr & oy wsg § g8°?

Famulus
A

e

Famyyl
B

HiRm

Famous
C

L2l

Famil
D

e

Correct Ans : A

Subject : Environmental Study

CAalikian Af AnArAv Fricace ic
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SUIULIVIT Ul TIHITIYY LHDED 1D

Q.No: 94
2470066
Sl e BT THIYH §
Alternative energy
A
e et
Hydro electric energy
B
Srefdqgd el
Petroleum product
C
YSIRET G
Coal
D
Hiaa

Correct Ans : A

Subject : Environmental Study

Q.No: 95 Among the following which can be the objective of teaching EVS at primary level?

2470336
fafifed & ¥ Tufe TR W 33Ty UgH 31 3539 1 8 9Hdl o7
Knowledge about critical scientific concept
A
eyl AT YR & IR F
To understand the nature of society
B
TS B Tl B wwE R
To enable student to know about evolution of mankind
C
G S & S & aR & 9FA & O S S 9am S
Educate the student about basic difference between genders
D

i & 9 g SR & aR | oF @1 Rifém a3
Correct Ans : D

Subject : Environmental Study

Q.No: 96 For adult buffaloes, floor space requirement (m2) under covered area is

2470541
Jo N4 & oy, srwiied 8 & siarfd B @1 sravadar (wH2) |
3.5

A
3.5
4.0

B
4.0
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7.0
8.0

8.0
Correct Ans : B

Subject : Environmental Study

Q.No: 97 Which fort is a UNESCO world heritage monument is on a hill about 30m above the surrounding plain, received piped water only in
2470689 1991

DI I B ! BT 39 RIS WIRS 8, S U™ & AGH I T0AT 30 MR SW U UBre! W 8, 1991 & T Uy I ur U gan ot

Udhampur fort
A

JYAR faran

Fatehgarh fort
B

HagTe far

Islamnagar fort
C

TRIMTR foer

Jaisalmer Fort
D

SR T e

Correct Ans : D

Subject : Environmental Study

Q.No: 98 The Great Crested Grebe builds its nest amongst the vegetation in by slow flowing rivers or lakes.
2470693
Y s Ui it ia & sg areil AAfedl an sl gr A geafadi & S ST e ST B
shallow water
A
Iyl Ut
deep water
B
TR Ut
mud
C
LIES)
rocky area
D
gl &

Correct Ans : A

Subject : Environmental Study
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Q.No: 99 In the Thar Desert the day temperature may rise to 50 degree Celsius, and in the same night temperature drop down to near;
2472218

YR & TR H & o1 aome 50 33 AR 9 7¢ IFdar 7, SR I a3 a9HH RS B9 B G

30 degree Celsius

A

30 f&h SR

45 degree Celsius
B

a5 f&h Afvmw

15 degree Celsius
C

15 &0 Afcmw

10 degree Celsius
D

10 f&h AfRmw

Correct Ans : C

Subject : Environmental Study

Q.No: 100 Which aquatic animals does not have gills ?

2472395
P @ e gl #f TIHR T 8 ¥
octopus
A
Sileiuy
lobster
B
g Hoddt
sea snake
C
FH g
Whale
D
=

Correct Ans : D

Subject : Environmental Study

Q.No: 101 The common langur has a black face and is known as the?
2472438

ST TR T U5 HIAT gl ¢ 9IR 34 [l | ¥ ST S g2

Hanuman monkey

TIAM IR

B proboscis monkey
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g 91T dR)

rhesus macaque

9 moe

vervet monkey

qde geR
Correct Ans : A

Subject : Environmental Study

Q.No: 102 The drug obtained from ‘Himalayan Yew’ is now the biggest selling drug in the world

2472460
against which disease?
femra ¢ | und <ar o 5y Rt & Raars givar # wed wareT e aredl gar 82
Cancer
A
FF
Tuberculosis
B
&R T
Typhoid
C
CRPIRS
Malaria
D
Tt

Correct Ans : A

Subject : Environmental Study

Q.No: 103 In which year was the South Asia Satellite launched?

2473935
301 TRr Suvi fa ol gafia faar man ure
2016
A
2016
2017
B
2017
2018
C
2018
2019
D
2019

Correct Ans : B
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Subject : Environmental Study

Q.No: 104 Who was the project director of Mangalyaan 2013?

2473969
TR 2013 & Hioiee SANGER B &2
Ramesh Reddy
A
AR S
Sudha Murthy
B
T Tf
Sanjay Shetty
C
o gt
Subbiah Arunan
D

T SBOTT
Correct Ans : D

Subject : Environmental Study

Q.No: 105 Which of the following is the navigation satellite system from the USA?

2474008
T T ARSI B AN IUE Yurel! Fafiiad § 9 S 82
GPS
A
it dle.
GLONASS
B
LS
Galileo
c
chfert
BeiDou
D
a5l

Correct Ans : A

Subject : Environmental Study

Q.No: 106 Eris is a dwarf planet approximately the same size of Pluto, but is times farther from the sun.
2474072

TRY TF 11 9% § S AT WE & GHM AIOR BT 7, Al 98 _TIRE

Three
A
Gik
B Five
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Seven
C
|Id
Ten
D
<

Correct Ans : A

Subject : Environmental Study

Q.No: 107 Due to which of the following reasons the soil becomes degraded?
2475954

1. cutting down the forest

2. from heavy rains and floods

Choose the correct code

Frofeiaa & & 5 SRl & 7er TR 81 ol 87
1. ST BleA ¥

2. 3l aui SR 9Ig 9

SEEISEES)

only 1

Had 1

only 2

Haq 2

both 1 and 2

1 3R 2 31

neither 1 nor 2

IA1eRT2

Correct Ans : C

Subject : Environmental Study

Q.No: 108 Puddling is done with which of the following:
2475977

1. an animal

2. tractor drawn implement

Choose the correct code -

it (e o) Pl & 3 5 gR1 &t oh @2
1. Tdh SR
2. TaR a1 sEfaad
TS IS I -
A
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Only 1

Faa 1
Only 2
B
Fad 2
Both 1 and 2
C
T 1 3R 2
Neither 1 nor 2
D

IA1RAE 2

Correct Ans : C

Subject : Environmental Study

Q.No: 109 India is the second highest producer of paddy (rice) in the world (as of 2013), its yield is lower than
2475984

YR g1 & U (F19d) HT IR I J81 SUEH ¢ (2013 TF), THD! uS J &Y g

China

Gkl

Brazil

USA

Tgad T SARST
UK

RS fHred
Correct Ans : A

Subject : Environmental Study

Q.No: 110 What is the first month according to the Hijri calendar?

2476416
e $dSR P AR UyH A BT W 7?
Rabi-ul-sani
A
T&-I-9rH
Ramjan
B
S
Muharram
C
em
Tilhii
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Correct Ans : C

Subject : Environmental Study

Q.No: 111 When is International Students Day celebrated?

2476424

RISty faendf feay wa wran Sir 82

14th November
A

14 99R

15th November
B

15 R

16th November
C

16 TdR

17th November
D

17 4R
Correct Ans : D

Subject : Environmental Study

Q.No: 112 What percentage of the Indian population is dependent on agriculture for livelihood?

2476444

YR STRe &1 fasar ufa=ra shifawias & fow s = ik g2

79%
A

79%

87%
B

87%

58%
C

S58%

42%
D

42%

Correct Ans : C

Subject : Environmental Study

Q.No: 113 Who is the current chairman of the International Cricket Council?
2476489
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SIS fhdpe uRwe & adw siee S &2

Anil Kumble
A

S et

Greg Barclay
B

pPUEICS]

Alan Issac
C

T SIP

Sharad Pawar
D

RRq TAR
Correct Ans : B

Subject : Environmental Study

Q.No: 114 1In which year was the Women Hockey Academy of Gwalior established?

2476592
TaferR Bt Bigan gl sidmreut Bt R 6 a9 g8 e
2008
A
2008
2007
B
2007
2006
c
2006
2005
D
2005

Correct Ans : C

Subject : Environmental Study

Q.No: 115 What is the distance covered in a marathon race?

2476641
IR s # frat & 7 1 o 22
21.2 miles
A
21.2 miles
26.2 miles
B
26.2 miles
C 25.5 miles
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25.5 miles

27.4 miles

27.4 miles
Correct Ans : B

Subject : Environmental Study

Q.No: 116 1In an activity based teaching method, a child is actively involved

2477147
e TfAfa aneia e ugfd §, t s iy ®U Q g T § Wit giar g2
Mentally and Physically
A
THR® 3R IRR® U
Only mentally
B
P ARSI
Only physically
C
P TARS FU Y
Dramatically
D

AcHig T Y

Correct Ans : A

Subject : Environmental Study

Q.No: 117 1In which teaching method, the teacher performs the experiment and students acquire knowledge.
2477161

oo e vl & Riees 7o FRa § 3R OF T4 UId Hd ¢

Engagement method

A
R fafy
Demonstration method
B
ez Ay
Observation method
C
Sfqeiie fafy
Appropriate method
D

Suged fafdy
Correct Ans : B

Subject : Environmental Study

Q.No: 118 What is the “epicenter” of an earthquake?
2477920
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YU FT "IURDE A ifhg (W) T 72

It is the point on the surface directly above the focus

A
T8 WY U TR (Bipd) F FR Fae W Ra f{ig 2
It is the point of rupture
B
g fviT () 1 fiig &
It is the vibration generated by fault rupture
C
Tg YT (PIeT) TeA & S $U §
It is the other name of focal depth
D

Tg e TS (Pld SW) B G TH §
Correct Ans : A

Subject : Environmental Study

Q.No: 119 Which of the following would belong to the first trophic level?

2477969
Fafafed # ¥ 1 vy dve ¥R & Sefa grm?
Zooplanktons
A
Siwiae
Grass
B
u
Both zooplanktons and grass
C
Ywide R U gl
Neither zooplankton nor grass
D

7 4 vigwas $R 7 € U
Correct Ans : B

Subject : Environmental Study

Q.No: 120 The movement of individuals of a population out of a region on a permanent basis is termed as what?
2477974

T 87 9 W} YR WR A & ARl B AR B T Bl Sl 8?2

Immigration

A
YA (SHIUR)
Emigration
B
IHAN (THIRA)
C Expat
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Yol (TEeE)

Migration

VAN (HTEIRH)
Correct Ans : B

Subject : Environmental Study

Q.No: 121 1Q (Intelligent quotient) scores are generally correlated with academic performance-
2473791

& I s IrrTe: Qe ueRH & Wy --- 98 Jafta g 71

Perfectly
A
of Fu §
Highly
B
SAFETY
Moderately
C
TEH F Y
Least
D
Ffawud

Correct Ans : B

Subject : Child Developement

Q.No: 122 One of the following is an example of fine motor skills

2474563
g d I 1@ ST Hick DR BT 360 §
Palm grasping
A
RERCEE
Sitting
B
&
Crawling
C
RuEi|
Walking
D
EREI

Correct Ans : A

Subject : Child Developement

Q.No: 123 Students can improve their comprehension of written material if they use a strategy called SQ4R which is
2474670
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TiE B SQ4R AH UM T IWA Fxd ¢ of d fIRad ekt ot oo+ aust ¥ YUR ) I&d o

study, query, red, review, revise and recite

A

w3, 54, ds, Ry frarar ik framrse

survey, question, read, reflect, recite and review
B

w4, &y, 83, Rudiee, Ramse ok Ry

study, question, read, revision, review and recite
C

w8, Hy, s, Rdivm, g ok Rage

survey, query, read, review, recite and revision
D

w3, B, s, ey, feamse 9k Rdiem
Correct Ans : D

Subject : Child Developement

Q.No: 124 Psychological factors contributing to ADHD include
2475341

1.Parental intrusiveness

2. Over estimation

3. Rejection

4. Pampering

Select the correct using the codes given below.

T TS HRS S ADHD & ANIeH & §
1. TT-fore &1 sraifed geaaT

PR R DE

3. 3rdipfd

4, S TR

2 QT T FTS B ITIT HXb el BT 997 BRI

1and2

18R 2
1and 4

13k 4

All of the given options

fou T Wit fawe
1,2and 3

1,23R3

Correct Ans : A

Subject : Child Developement

Q.No: 125 The question given below has an Assertion (A) and a Reason (R).
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2475363

Assertion (A): Physiological disorders also psychosomatic illness.

Reason (R): The period of adolescence is extremely important in the life of an individual because at this stage one moves from

childhood to stage of maturity.

= fau T wy & ud FF (A) SR HRO HROT (R) fa@r w3

HYF (A): IRRD AR ff e A Bl

PRUI (R): [PLRERT T A F SfiaT & U 9gd St Agaqul 9 a1 § TP 39 WR | AR 907 I TREdl 31 3R ST §

Both A and R are true and R is the correct explanation of A

A
A 3R R EF 90 ¥ 3R R, A T &t e 7
A is true, but R is not the correct explanation of A
B
A TI 8, R R, A P G&l 18 E1 8]
A is true, but R is false
C
A Id §, W R e 8]
A is false but R is true
D

A TTerd € AT R T R

Correct Ans : B

Subject : Child Developement

Q.No: 126 Who proposed the theory of multiple intelligences?

2476377

faftra-gfe @1 Rigid forem wfmfaa faar

Howard Gardner
A

HESKISEN

Robert Sternberg
B

RECRSECH]

David Wechsler
C

Sfs IR

Alfred Binet
D

fps fore

Correct Ans : A

Subject : Child Developement

Q.No: 127 goals are those which seem achievable in the near future.
2476858

e 3 g off Fiope Hidsy & urg o 9 wedld 810 ©

PR TR By N
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A SNUreL weriim

Y afy

long term

ety

permanent

-t

personal

feaTd

Correct Ans : A

Subject : Child Developement

Q.No: 128 How does shaping and successive approximation work in terms of learning?
2476957
1. Strengthening of behaviour by presenting a desired stimulus after the behaviour.
2. Reinforcing each small step of progress toward a desired goal or behaviour.

Choose the correct code.

Sf & T F R 1 iR i Tfwe (AT s TR STTITRA) HI HH BT 872
1. AER & §Ig difed Il UJd b HdgR Bl YLg Sl

2. Jifsd A&F T FAAGR DI 3R W & YIS BIC HGH Bl g HrAll

T BIS I

Only 1

Pad 1
Only 2

Fad 2
Both 1 and 2

Tl 1 3R 2

Neither 1 nor 2

a1 eiRIdE 2

Correct Ans : B

Subject : Child Developement

Q.No: 129 British psychologist Charles Spearman suggested that intelligence can be understood in terms of dimensions or factors.
2477020
fafesr maTie @il Wi 3 g faa 6 gfg & ST T HRB! F Feo! H TH o Gl 3
2
A
2
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3

4
C

4

5
D

5

Correct Ans : A

Subject : Child Developement

Q.No: 130 Death rate of children on the first year of life or number of deaths per 1000 children born is called
2477437

Sia & Tgat af B s BT g X a1 Uid 1000 SH @1 1 sl 31 Heg Bl GO Hedrdl §

Infant mortality rate

A
R w
Neonatal mortality rate
B
Hqulld g &
Child mortality rate
C
e g &)X
Infant morbidity rate
D

RIg T )
Correct Ans : A

Subject : Child Developement

Q.No: 131 Which of the following is/are the reason/s for the misbehavior and anti-social activities done by intellectually bright children?
2478346

i)Bright children are not at the centre of discussion.

ii)Teachers fail to provide appropriate alternatives to the bright children.

iii)Our education system does not have good strategies for the bright children.

Choose the correct code.

i 7 4 & 9/3 diles ¥ I Ioad §=1 R 5 7Y geiaeR SR SMmise Tiaidfial 1 SR §
i) SR 9= =il & &g & 7 Gl

ii) e Aurdt st 1 IFd fawed Uem o9 & fawd B B

iii) gARY R ol # At =0t & R 3t oY 6T 81

TR BIS I
ii only
A
&ad i
B iii only
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Had iii

ii and iii only

c
Fadii IR iii
1, i and iii

D
Fad i,ii R iii

Correct Ans : D

Subject : Child Developement

Q.No: 132 Hobby clubs in a school helps to sustain the quality of ----------=-=----- children.
2478351
TP G 1 el TG ------mmm oo Fedl Y TUTa ST 3G H GG B 3
Intellectually bright
A
ST ¥ § Iwa@
Talented
B
EIGRICI]
Creative
C
XIIHD
Average
D
fraa

Correct Ans : B

Subject : Child Developement

Q.No: 133 Which of the following categories of person/s can help in identifying a talented child?
2478410

i) Teachers

ii) Parents

iii) Peers

Choose the correct code

Fafafea # ¥ $H-11 sfky/a w6 JoqRIcd =2 3t Igar $3 § 7dg R Tl 82
i) fRer®

ii) T - fOar

iii) Grit

e BIS T

i) only

Had i

B i) and ii) only
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Fada i AR ii

i) and iii) only
c

Fad i AR iii

i), i) and iii) only
D

Fad i,ii MR iii
Correct Ans : D

Subject : Child Developement

Q.No: 134 Which of the following scientist suggests that schemata (the plural of schema) be thought of as 'index cards' filed in the brain,
2479068 och one telling an individual how to react to incoming stimuli or information?

frafafea & § $1 o d9fie ge a1 ? & Wi (Wi o1 9gae) B Ak § o '$3a $1e' S =0 8§ AF Sl 8, U e Ueb safad
DI M aTelt st a1 EArelt R ufaferar A BT it gdrr 82

Boring Langfield

A
T ATHIE
Weld Archives
B
IS SIRRIETTR
Robert S. Woodworth
C
Jia¢ 7 gead
Jean William Fritz Piaget
D

<it faferaw fpew farst
Correct Ans : C

Subject : Child Developement

Q.No: 135 In which year Lawrence Kohlberg developed the theory on moral development?

2479276
o o G # Pide 4 e [ R g faeka e
1932
A
1932
1958
B
1958
1965
c
1965
1972
D
1972

Correct Ans : B
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Subject : Child Developement

Q.No: 136 Thorndike believed that learning occurred through which of the following?
2479321

YFSIH BT qHT o1 o Siftvm fFafafaa & § frge wey I dar g?

Trial and Error theory

A
T 3R Ffe Rt
Factor Analysis
B
PRS e
Primary Mental Ability
C
wryfires AFRI® &Far
Frames of Mind
D

THRT ST AISS
Correct Ans : A

Subject : Child Developement

Q.No: 137 Which of the following is not a feature of progressive education?
2479517

FafaRed 7 | S wiaie Riar & fadva 781 82

Education for society and democracy.

A
T IR Sidad & forg e
De-emphasize textbooks, emphasize multiple resources.
B
UEIYRD! R 9R 7 &, F3 GUIeH R OGRS
Strict timetable and seating arrangement.
C
FHY-HRUA SR T3 $ W AR
Learning as opposed to rote knowledge.
D

e & T4 & Judia ke

Correct Ans : C

Subject : Child Developement

Q.No: 138 Which of the following characteristic is not a learner centered approach to education?

2479518
frafafea o & o9 R favar fRien & e oe Rienlf Sia oo 7= 82
Teaching and learning is personalized.

A
fRiefor iR iaor safdrd 31

B
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Students advance in their education when they demonstrate they have learned the knowledge and skills they are

expected to learn.

BT U e 7 3T 964 § O 3 eRid #d € b IR 95 I IR i W i § el I8 W 9t Swile @ o 8

Students have the flexibility to learn anytime and anywhere.

BE ¥ U it ot ok e ot S &1 iiere 9

There should be extrinsic motivation and uniform assessment parameters.

T SRR SR UHEHH YeuieH AFES B Tifeul
Correct Ans : D

Subject : Child Developement

Q.No: 139 Which among the following was not defended by Rabindra Nath Tagore regarding education?
2479546

fafafea o @ 319 Rigm & ey 7 i 1Y 1R §RI 9919 Tg1 Bl o7

Lower aim of education

A
g &1 Freen sexg
Higher aim of education
B
e &1 =1 SExA
Education system that promoted an awareness of a country's cultural heritage.
C
g vomeRt foRm 39 9 IRpho fORa F IR & Srewal i gera fedl
Education system that promotes lower aim of education before higher aim of education
D

g & 9= a&q ¥ Uga RI&T & 9 G967 I S@1ar o areil & Horedt

Correct Ans : D

Subject : Child Developement

Q.No: 140 Who will share the authority in the classroom in constructive approach of education?
2479649

18 & TATHS eRDHI H el F SRIGR B A= HOT?

Student
A

Teremelf

Teacher
B

R

Both Student and Teacher
C

B IR g St

Neither Student not Teacher
D

79/ A g
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Correct Ans : C

Subject : Child Developement

Q.No: 141 Thorndike’s theory of multiple intelligence is replaced by the multi-factor theory proposed by who among the following?
2479734

UHeR® & 95-ga & Rigia o Fufafed # 3 feud gr1 16.aid d5-oRe Rieid gr1 ufawnfia fear s g2

Charles Spearman

A
e WA
L.L. Thurston
B
TA.GE. 4
J.P. Guilford
C
St Rrewrs
Robert Stenberg
D

e RAFT
Correct Ans : C

Subject : Child Developement

Q.No: 142 According to Maslow, needs are also known as lower-level needs, which include survival needs and safety needs etc.
2480006

AR & AR,
ARG Bl 9 TR DI SMagwdisi & w9 o ST S g, Forad STReliadl @ sTaiedisik YRa sTavgadl e i gl

Deficiency needs

A

Srquia

Being needs
B

fferd

Actual Needs
C

qrkifacs

Self-needs
D

ESp)
Correct Ans : A

Subject : Child Developement

Q.No: 143 Which of the following learning disability is not correctly matched with its meaning?
2480195

frofifed & § SH-9 dien ot siemar s9% orf @ et < § gafe e 87

A Dyslexia- difficulty in reading
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fewfear- uga & #fes

Dyspraxia- difficulty in mind and motor skill coordination

B
feRifRma- #Afkrss & SieTE SR Hiex P waay
Aphasia- language disorder
C
SR - HIEIRIPR
Dysgraphia- learning disability in Mathematics
D

fewiftrar- wifrg & e &t siemar

Correct Ans : D

Subject : Child Developement

Q.No: 144 Everyone in Reena’s family is a lawyer. Both her parents and her elder sibling are successful lawyers which motivates her to pursue
2480210 |ay as a career. This situation indicates that Reena is

I F giar & ot aota 81 39S Jrar-fdT SR 3% 93 UEIaX Gl ol U%hd d81d o ol 39 I Bl siide! o & o Uit & 81 a8 Rufa
3 ot & &5 9 2l

Intrinsically motivated

A
iR ¥4 ¥ Uik
Being forced by her family to pursue law as a career
B
3 TRAR GRT BT B ST & U § A0 3 Ry Forg fbar o ve1 8
Extrinsically motivated
C
T ¥ 4 WA
None of the given options
D

fow T el & ¥ F1 T
Correct Ans : C

Subject : Child Developement

Q.No: 145 In elementary Mathematics, topics like numeracy, playing with numbers are repeated every year in both 6thand 7th standards.

2480374 Thjs relates to which principle of development?
RS G H, S, Sesll 1 e o Il 31 ude ad Bdt SR wad! il werelt # Ggvan o 31 I8 o & e Rigia 9 96l 82
Development occurs proximal to distal
A
e R ¥ Ty S Bl
Development occurs at a different rate for different individuals
B
AT SreT-srerT fddl & g SerT-3reT i & g &1
The development follows a sequence
C
P TP FHH BT SFHR IR B
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D Development proceeds from head to toe

faer RR ¥ ufg % g Bl

Correct Ans : C

Subject : Child Developement

Q.No: 146 ego and superego were put forward by

2480648
3EHR R Hel-3MEPR P gRT U¥@ifad g g &2
Brunerd
A
ESS]
Bandura
B
a1
Freud
C
g
Pavlov
D
LICIE]

Correct Ans : C

Subject : Child Developement

Q.No: 147 Which one of the following is not related to the continuous and comprehensive evaluation?

2480741

9 & B qad ud e Gedihd 8 Gefdd T 82

To provide scope for self-evaluation.
A

W-eie & R fIwR UgH &

To make evaluation a supplementary part of teaching learning process
B

i o1 Rigr SR uftsan &1 e R far sAm

To maintain desired standard of attainment.
C

U & 9ifSd A S T& T

To use evaluation for improvement of student’s achievement through diagnosis and remediation
D

FeF 3k STER & A1eH A B Ft SUAST F GUR F T Heuic ST SUGRT Sl

Correct Ans : B

Subject : Child Developement

Q.No: 148 How a teacher can enhance the learning as per the context of motivation theories?
2480758

IR Rrgidl & el ¥ ouR uF e, Rieor & f5u TR a¢ YT 32
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A Dy setting unirorm standards Oor expectation

S & IAF A B UMY HIP

By not having any expectation from students
B

Bl A FIE 9HIE T BB

By setting extremely high expectation from students
C

BHEI ¥ e SElE e

By setting realistic expectations from students
D

BHE Y gurfard suile e

Correct Ans : D

Subject : Child Developement

Q.No: 149 Which one of the following statements is true about the role of heredity and environment?
2480828

TR SR qafR 1 yffieT & IR § Fufoied & @ oF-1 3y 99 2

A child’s ability to learn and perform is completely decided by the genes.

A
U SIR WeRH 1 $ UF 9= $ &l Sl g1 It @k § P $t o §
Good care and a nutritious diet can fight off any disorder a child is born with.
B
3t T 3IR Ui SMER T= & ot oft SFed fAeR 1 gR Y Webanl 2
Environment plays a significant role only in the child’s language development.
C
aferur o ¥ & UII-Rer  aeagel Yyt R 1
Certain aspects of development are influenced more by heredity and others more by environment.
D

TP & $© Ugq STARIPT 3R $S 3 TR0 F &fte nuifad g g

Correct Ans : D

Subject : Child Developement

Q.No: 150 1In the process of learning motivation

2480847
IRATGTY fRigror i ufchar gr1
sharpens the memory of learners
A
et 3t arearza Iw &R 3
differentiates new learning from old learning
B
R TR TF Y uiier % <t & iR R ST g §
makes learners think unidirectional
Cc
g o1 we & foxn § (vF-9ur/ 0@ & TR ) FEA S & U gl §
D
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creates interest for learning among new learners

e Rigrfd & e ufeo # wf @ wd @

Correct Ans : D

Subject : Child Developement
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